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Q1 Solution

MS

(i)

Let $x and $y be the price of each daily adult ticket and each student
ticket respectively.

Booth X : 5nx+ny =5976 ----- 1)
Booth Y : 357x+51y =5763 ----- 2
Booth Z: nx+2ny =8712 ----- (3)
5x + y—5976(1j =0 e @
n

1
357x+51y+0(—) =5763 ------ (2

n

1
7x+2y—8712(—j:0 ------ (3

n

FromGC: x=15, y=8, E:i
n 72

Each adult ticket costs $15, and each student ticket costs $8 and
n=72.

Alternatively:
S5x+y 5976

7x+2y 8712
from above)

= 1728x—-3240y =0 (And solve together with (2)




Q2 Solution

MS

(i)

7x-15
X2 +X—6
7x-15

>1

7x—15—(x2+x—6)
X2+ x—6
7x—15—x2—x+6>
X*+x-6
2
—X +6x—920
X2 +X—6
2
X —6x+9S
X’ +x—6
2
_(x=3)
(x=2)(x+3)

>0

0

0

Since (x—3)° >0 L

(0]
)]

, — <0
(x=2)(x+3)

Therefore, —-3<x<2o0r x=3

(i)

—3<Inx<?2

1 2
—3<X<e
e




Q3 Solution

MS

(i)

Sketch the graphs of y=2x+2b-1 and y= g:

2x+2b—1:9
X

2x% +2bx—x=b
2x% +(2b-1)x-b=0
(2x-1)(x+b)=0
x:l orx=-b

2

sy=2bory=-1

(i)

By observation, the 2 graphs intersect at X = % and x = 1 b.

Hence, for g>2x+2b—l(*), O<x<% or x<-b




(i)

Replace x in (*) by x+Db:

P ax+b)+2b-1
X+b

L>2x+2b+2b—1
X+b

L>2x+4b—1
X+b

.'.0<x+b<1:>—b<x<1—b
2 2

Or x+bh<-b=x<-2b

Q4 Solution

MS

(i)

1

327 +12x
1
=(27+12x) @

:(27)§(1+ng-;

NS SR (*)
3 81 2187

Valid range:

ﬂx <1
9

9 9
—— < X< =
4




(i)

Letx:1
8

Since expansion is valid for —% <X< %

oo o)

1

/28.5

Lt
$19315

;zz_i(z}ﬁ(zf *)
319315 3 81\8) 2187(8
_ 716
= 2187
716

1

319315 2187
319315 ~ 3.05447
315 ~1.145




